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const numbers = [1, 2, 3, 4, 5];
const sum = numbers.reduce((accumulator, currentValue) => g
return accumulator + currentValue;

b 0);

console.log(sum); // Output: 15
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const person = |
name: John)
age: 30,
gender: 'male’
b
for (let key in person) |

console.log(key + ": ' + person[key]);
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const numbers = [1, 2, 3, 4, 5];
for (let number of numbers) §

console.log(number);

while loop
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while (condition) 3
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let count = O;

while (count < 5) g



console.log(count);
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let count = 0;
do |
console.log(count);
count++,

{ while (count < 5);



